Name:

Class:

Date:

Chapter 12 Review - Lessons 1,2,4,5,6,7

Multiple Choice
Identify the choice that best completes the statement

1.

Solve 2p + 9 =27. Check your answer.
a. p=18

b. p=13

Solve 5@ — 6 = 34. Check your answer.
a. a=8§

b. a=9

Solve % + 5 =26. Check your answer.

a. d=93
b. d=78

Solve % — 9 = 36. Check vour answer.

a. b=270

b. =271

Solve 5k + 15 — 3k = 32. Check your answer.
a. h=16

b. B=23

Solve 8z + 13 + 7z = 35. Check your answer.

=2k
a. z—35

;
b. z=1-r5-

Write an inequality for the situation.
At-most 37 papers are on the table.
a. number of papers < 37

b. number of papers = 37

Write an inequality for the situation.
Fewer than 39 papers are on the tray.
a. number of papers < 39 '

b. number of papers > 39

p—

or answers the question.

pr=10
p=9
aZS%
4
a=6;
d=064
d=63
b=216
b=162
1
h=8—2~
p—nl
A= 43
z=22
Al
z=21

number of papers > 37
number of papers < 37

number of papers > 39
number of papers < 39



Name:

10.

11.

12.

13.

14,

Graph the inequality w = 3.4.

a. C.
e e e 3 e+
=S -4 -3 -2 -t 0 1 2 3 4 3 -5 _—4 3 2 -1 0 1 2 3 4 3
b. d.
- —t— it ————
-4 4 -3 2 -1 ¢ 1 2 3 4 3 -5 4 -3 -2 -1 ¢ 1 2 3 4 5
Graph the inequality m = -2.2.
a. c.
l ‘. | Il ] ] 1 L] Il 1 / & e k 1 1 1 1 1 Il Il LY
\ T L T A T T T ) T T T \ L3 ﬂ T T T T £ T T
-5 4 3 2 -1 ¢ 1 2 3 4 5 -5 4 3 -2 -1 0 1 2 3 4 35
b. d.
R e I
-5 4 3 -2 -1 0 1 2 3 4 35 -5 4 3 -2 -1 0 1 2 3 4 5
Graph the compound inequality.
-l4<z<l
a. c.
€t Onfemmjem o} i)
- <4 3 2 -1 0 1 2 3 4 5 -5 4 3 2 -1 6 1t 2 3 4 5
b. d.
| Ov———— > i —— |- @)
-5 4 3 -2 -1 0 1 2 3 4 5 -5 4 -3 -2 -1 0 1t 2 3 4 5
Write the inequality shown by the graph.
/ ke & " ol & Fa I 1 1 L 'l I I
\ L) T T T T o L] T T T LS T T
-7 -6 -5 4 3 -2 -1 0 1 2 3 4 5 mn
a m<-2 ¢, m<=2
b. m>-2 d m=2-2
Write the inequality shown by the graph.
e T TR EETE >
-7 6 -5 4 3 -2 -1 0 1 2 3 4 5 m
a. m=05 c. m<05
b. m=>05 d m=<05
Solve m — 3 >—4.5. Then graph the solution set on a number line.
a. m>-7.3 c. m>-135
et ——+ > S L S
-10 8 6 4 2 0 2 4 §& 8 10 -0 & 6 4 2 0 2 4 6 & 10
b. m>-1.5 d. m>-75
1 % 1 ! f i . M PR 1 Ll L L . o L N 2 N
1 L T T ) L L3 T rd T L T T 1 T T T L T T rd
-1 -8 6 4 -2 0 2 4 6 8 10 -6 8 6 4 -2 0 2 4 & 8 10

1D



Name:

15.

16.

17.

18.

19.

20.

21.

Solve x —3 = 2.5, Then graph the solution set on a number line.

a x=255 c. x=2-05
prd . N N N N N N . i . | r 1 1
\ 1 T T T T T T 'I \ L T E T 1 =T T T T L T
<10 -8 6 4 2 0 2 4 6§ 8 10 -0 -8 6 -4 2 0 2 4 6 8 10
b. xz255 d x=-05
—t——t+—t+—+—+—+—+—o > O ———— .
108 6 4 -2 6 2 4 6 8§ 10 108 6 4 -2 0 2 4 6 8§ 10
Solve d + 2.5 <—4. Check your answer.
a d>-15 c. d>-65
b. d<-6.5 d. d<-15
Solvea + 3 > 06 Check your answer.
a. a<-24 c. a>3.6
b. a>-24 d a<36
Solve % > 0.6. Check your answer.
a. y>02 ¢c. y<l18
b. y<02 d y>18
Solve _ﬂ,’, > -1.4. Check your answer.
a m=02 c. m298
b. m=02 d. m<9.8
Solve —7y < 40. Check your answer.
a. yZ—S% c. y=-280
b. y=<-280 d. y<-5
Solve % —0.5=-2. Then graph the solution set on a number line.
a. y£105 c. p=105
S L S e s S :.:'::::s...)
25 20-15-10 -5 0 S5 10 15 20 25 25 20 -15-10 -5 0 5 10 15 20 25
b. y=175 d y=175
b Ot N T
25201510 5 0 5 10 15 20 25 25 -20 1518 =5 0 5 10 15 20 25

ID: A



Name:

22,

23,

24.

C.

d . .
Solve 5 - 2.5 < —6. Then graph the solution set on a number line.
a. d<-7

) 1 L L V- ] Il Il I L 1 ]
\ T T T L T T 1 T T ]

=25 -2 ~15 -10 -5 0 5 10 15 20 25

b. d>-17
O )

2520 -15-10 -5 0 5 10 i5 20 25
Solve and graph.
n—8+3n<+4
a. n<-3

P A . d 1 ! N 1 r I
\ T T L | 1 T L} T T T

108 6 4 2 0 2 4 § § 19

b. #n>-3
e O o 4
40 8 -6 4 2 0 2 4 6 8 10
Solve and graph.
—2b+4+3bh<-1
a. bh<3
e L s me e e a

108 6 4 2 0 2 4 6 8§ 10

b. b=<-5
R o
-0 -8 6 4 -2 0 2 4 6 & 10

d<-17

A ™} . 1 b 1 r y ! I

\ T L ) L L] T T T T T T
=25 2015 -0 -5 0 5 10 15 20 25

d>-7
b Ofommnn R
=25 -20-15 10 =5 0 5 {0 {5 20 25

n<l

pa " L L M " P L L ! ' N

b e O ———— -}
-0 -8 6 4 -2 0 2 4 6 & 10

n>1

it O
~10 8 6 4 2 0 2 4 & 8§ 10

b=3

e et el
-10 &8 -6 4 2 0 2 4 6 8§ 19

€5

G b}
-0 8 6 4 22 0 2 4 6 8 10



Name: Class: Date: ID: A

Chapter 12 Review - Lessons 1,2,4,5,6,7

Multiple Choice _

Identify the choice that best completes the statement or answers the question.

D - ‘ oL Skp puation ~ No Vitse ferms
1. Solve 2p+ 9 =27. Check your answer. :

a p=18 c. p=10 o+ G T SO P
b, p=131 d. p=9 SO it
20 = I8
Tl - S
74 . l’:? = ?
' 2. Solve 5a— 6 = 34. Check your answer.
a. a=38 c. a=5% 55%{
No Like derms i
b. a=9 _ d. a=6; 4:;‘; g
: ;v§kp-gaabém- : .
. Sa =40 -
T Fs o= é@’
D 3. Solve % +5=26. Check YOUr answer. ¢ g
a. d=93 y c. d=64 o2
A & -
b. d=78 Mo Like *'éf Y4 d-63 s JRAp=T I
Jw&@?g 7 s
l{ﬁ 4. Sol{fef—9=36. Check your answer, - | éf — é g
a. b=270 No Litee e c. b=216 . b L
: b. b=271 & | i b=162 b_ =3[ ‘é\:\z— = I A
A5k % L @ 43 f?\/
b _ — 5 = 0270
C 7 -
A~ 5. SolveSh+15 ;_3._!3=32. Check your answer. [
a. h=16 / c. h=8; 2h+15 230
Jj{ Jzﬁrﬁ? W 2 . é ’
b. k=23t d d k=2 7% 7S
5h-3h <2h =77
| 24 i =2
. h= &4
6. Solve 8z + 13 + 7z = 35. Check your answer. -
a. z=33 c. z=22
b. 2:177-5“ /,’,4’@ %M’f?é‘f e d. z:2§
15h + 13 &5’
-5 ; ¥
CJ54h = 2
T Fg Y

.

bz ;%ﬁ'ffg

(s



Name: _ ID: A

AD 7. Write an inequality for the situation. V4 £ WGE% = 370r /285
At most 37 papers are on the table. _ /ﬁ < 3 7
a. number of papers <37 - c. number of papers > 37
b. number of papers = 37 d. number of papers < 37

i
ﬁ 8. Write an inequality for the situation. 74) LIer f,ﬁg& 3 @mi g‘;ﬁ &ﬁf ?‘%j

Fewer than 39 papers are on the tray. 7
a. number of papers < 39 ¢. number of papers > 39
@ number of papers > 39 d. number of papers < 39

2 <37

6 9. Graph the inequality w = 3.4, 75 //faff f i f;" 5é¢2 ﬁ‘fg@’f z’% f'ijj At
c. : .

N &l " " " " 1
rom—— L s s Ea +—
-5 4 3 -2 -1 0 1 2 3 4 5 5 -4 -3 -2 -1 6 1 2 3 4 5 .

¢
b 4
(=
N
®

.5 4 3 -2 -1 0t 2 3 4 5 -5 4 3 2 -1 0 1 2 3 4 3

D - o e Py Lo ofe /7{ 2¢ ft
{or  10. Graph the inequality m >2.2. A s £t SRR oo/ ok
a c. _
i ——————— it et
. : -5 4 3 -2 -1 0 1 2 3 4 5 -5 4 -3 -2 -1 0 1 2 3 4 3
d
. L 1 1 ‘ \ L 1 1 e \
-5 4 3 =2 -1 0 1 2 3 4 5 S5 4 3 2 -1 0 1 2 3 4 35



Name: 1D:

£ 11. Graph the compound inequality. 0 ﬂéyf af{,fff; - \S«néﬂ fk’éi}/‘/j é{f Mi@i)

=ld<z<l
c.
1 1 1 [ ~ t Z . " o M 1 N ~ " PR N b
L) T LI T el T T \ L T T L | T Tt T T T T 7
=S 4 3 2 -1 0 1 2 3 4 3 -5 4 -3 -2 -1 0 1 2 3 4 5
b. d
A O —— S
S 4 -3 2 -1 0 1 2 3 4 5 5 4 3 2 - ¢ 1 2 3 4 5
C 12. - Write the inequality shown by the graph.
P N L 2 a i | [ ! ' 1 |
N v T T 1 T e T T T T T 3 1 T v
16 -5 4 3 -2 -1 0 1 2 3 4 5 6 7 m
a m<-2 , c. m<-=2
b. m>-2 d. mz-2
Shaved < -2
D e
13. Write the inequality shown by the graph.
e ———— ———F————
-7 6 5 4 3 2 -1 0 1 2 3 4 5 6 7 m
a. m=205 Ao < - c. m<05
b moos o SHeded = 0 (D m<0s

1 < 6.8

ﬁ 14. Solve m—3 >—4.5. Then graph the solution set on a number line. £l0 / #e ’é £eLs

a. m>-15 c. m>-1.5
i+ t—frntf——] Cprirmerre O———+———+
-10 8 6 4 2 0 2 4 6 8§ 10 ~10 -8 -6 4 2 0 2 4 o6 § 10
@. m>-1.5 d m>-75
e ————————— T —— LN
-I T T T Lt T L T T T T , TS T T T T T T T T T ,
-1¢ -8 -6 4 2 0 2 4 6 8% 10 -1 8 6 -4 -2 0 2 4 6 8 10
m-3 > 43 ~AS43
= v
+ 4 4.2 i

m > mfi im.ﬂ Z £ %/
g Porele S ade *o rf(539 |



Name:

ID: A

D 19. Solve % > 1.4, Check your answer.

a. m<0.2 : c.

b. m=202 d.
i ; 20. Solve -7y < 40. Check your answer.

a yz HS% . c.

b, y<-280 d.

5 i/«j} oS
| ke ferm S e .
15. Solvex—-3=2.5. Ther/é;raph the solution sef on a number line. “"‘W 7{;’}" g‘/
- : (A
a. x2535 ; c. x=-05 X 2- 505 ' f
A A .t b O —————+—— 5"?@& B%
Y108 6 420 2 4 6 8 10 08 6 4 20 2 & 6 8 M0 f”ﬁé»ﬁi’
b. x=55 d x=-05 ‘
et Ghm—t— et e ————
-0 -8 5 4 2 0 2 £ 6 %8 I 10 8 -6 -4 -2 0 2 4 6 8 10
10 fﬁﬁf\%, fﬂj 0/7(,0);5’”4 -—/ -~ Qs“'
_ 16. Solved +2.5 <—4 Check your answer. Dy 5 —d, _.,4/7,_ ~ 5
a. d>-15 c. d>-65 : : ~b, =
: , - &
b d<—-65 d d<-15 oL ~l.
Jo e ferm S 23 72 0. L .6 -3
" 17. Solve a+3 > 0.6. Check your answer. &i?i .. O.04-3
a. a<-2.4 c. a>3.6 -3 A
' - . uﬁué%&ﬁ‘f{
ﬁ a>-24 d. a<36 : 3&5,@
a > -4 =57
2 sf/mé
p y 7 /zé'ﬁ r.Z(,rm By ’fﬁvf
18. Solve—>06 Check your answer. j/
a. y>0.2 . c. y<1.38 SK:;: 7 0. £
b. y<02 y>1.38

Y > L8
TR
f’?‘pﬁ >~/¢{W’°
: md??’

mz9,
m=<9.38

280 p
y J—
7 “44(9
b=
' 5
53



Name: - f/ _‘ﬁf 5—»2 - ID: A

ﬁ 21. Solve

I

Y . e w
“— — 0.5 = —2. Then graph the solution set on a number line. - ‘
7 = (L z £S5 (7]

a. y%105 c. y=10.5 : 7 _
: & N
<
S s Y= B
\ T T T L3 T T L} T T w T T T 1 ,
25 20-15-10 5 0 5 10 15 20 25 25 2015 -10 -5 0 5 10 15 20 25
b. y=175 d. y=175
O L S A

€ 4
-25 20 1510 -5 ¢ 5 10 i5 20 23 -25 20 -15-10 -5 0 5 10 15 20 25

' j“a?, L
}4 /70 ///Z{ %rms Zopa. 5 .}iﬂg,g"
22. Solve

d
3—2 .5 <—6. Then graph the solution set on a number line.
ff d < ~3.5 {g/)
a. d<-7 : c. d<-17
K”
&l L L 1 ! ! ! ! 1 1 AR ™ 1 1 L ! ' P 1 et ’7
\ Ly T 3 Lman Wy T T T L) T T \ L Vi ) L) T T 1 T T T 4 5{
25 -2 -5 -0 -5 0 5 10 15 20 25 —25 20-15-10 5 0 5 10 15 20 25 -
b. d>-17 - d. d>-7
& 1 +— =} N 5 — L N Z } 1 1 3 g W) 4 2 " -\
T T v T T LB T , T T T T T T T L) ,
—25 20 -15 10 —5 G 5 10 15 20 25 25 20 -15 -0 -5 0 5 10 15 2% 25
(: 23. Solve and graph ,,,/ J é&;’i e s
n—-8+3n<-4
a. n<-3 c. n<l
/ b ™ -1 ] ] 3 1 ] Z i I & i’ ol ™ ] ] I I Dy
\ 12 T Ll e | T L T F T T Y T y T T T T T T ¥ T T 7
-0 8 6 4 =2 0 2 4 6 8§ 10 =16 -8 -6 4 2 0 2 4 6 8§ 30
b. n>-3 d =»n=1
& l 1 'I 1 b & ! L ok & bt \ Fa '\ i 1 i [ o, Wl h \
L) LI T T T T T T , R L] L] T T T s T T T T ,
-0 -8 6 4 -—2 6 2 4 6 -8 10 -10 -8 6 4 2 0 2 4 6 8§ 10
1 +37 Y -8 < 14
-
in+ 30 & 7
7
I ISR
: 7,
£ o
7o o



Name: - ID: A

j } 24. Solve and graph. ,; ;‘ég \f)%’ i fyﬁ—g

=2b+4+3b<-1

a. bs<3 , c. bz3
- ) ey ———
-6 8 6 4 2 0 2 4 6 § 10 -10 -8 6 4 -2 0 2 4 o6 8 10
b. p<-5 d. b£-5
- > imriorerion®)——+———————

 —
-0 -8 6 4 -2 0 2 4 6 8 10

06 +3b Jhad e~/ iy
gy s




